Vereinfachende Polynome

3x— X+ 4(2)62 + 8x) —x*

0 + 5x7 — 6x — 3x + x°

8x% — 8% —x— 67 — 2x°

6 — x>+ 4x° — 8x° — 3x°

20 — X0+ 20 - 3(x2 +x3)

Datum: Ergebnis:

3x2 + 7x2 +x2 + 8x — 4x3

8x% + 3x% — 4x” + 5x% — 5x°

Tx + 8x + 5x% — 2(5x3 —X)

3% + dx+ 5% — 3(2)63 + 5x3)

6x — Ox% + 2x% — Ox + 4x°
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Vereinfachende Polynome

Name:

3x_x3 +4(2X2 + 8x)_x2
—x> + 7% +35x

95 + 52 — 6 — 3+ 13
1053 + 5 — 9x

8x2—8x2_x_6x2_2x3
27— 62 —x

6x° — x* +4x? — 8¢ — 3x2
_2x3

P Ergebnis:

3% + 7% + 27+ 8 — 4
—4x + 112 + 8x

82 + 32 — A 4 52 — 552
o

Tx+ 8x + 5x% — 2(5x3 — )
—10x° + 5% + 17x

36+ dx+ 5 = 320 + 5¢)
—13x° + 4x

6x_9)€2+2xz_9x+4x3
4x3_7)62—3x
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